TABELA ZESTAWCZA ZJAZDOW
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Z33 | 03+843,23 7 40 P 5 11 K - 21,5 - - - 3,5 423
Z34 03+857,77 7 40 L 5 11 K - 26,5 - - - 45 435/1
235 04+038,72 7 40 P 5 11 K - 21,5 - - - 3,3 420
Z36 04+062,87 7 40 L 5 11 K - 26,5 - - - 45 1106
Z37 04+453,73 7 40 L 5 11 K - 26,5 - - - 45 1067
Z38 04+478,55 7 40 L 5 11 K - 26,5 - - - 45 1066
Z39 | 04+533,90 | 18 | 40 P 6 18 A 35 - - - - 35 258
Z40 04+676,13 - - L 5 11 Kb - - 26,5 - - 45 510
Z41 04+703,03 - - L 5 7 K - 125 - - - 45 548
742 04+729,69 - - L 7 Kb - - 12,5 - - 45 544/1
Z43 04+758,66 - - L 5 7 K - 12,5 - - - 45 544/2
Z44 04+777,15 | 8,5 40 P 5 11 K - 22 - - - 3,6 401
Z45 04+785,33 - - L 5 7 K - 12,5 - - - 45 544/2
Z46 | 04+786,85 | 8,5 | 40 P 5 11 K - 22 - - - 3,6 401
Z47 04+840,05 7 40 P 5 11 K - 22 - - - 3,6 401
Z48 | 04+960,00 - - P 5 11 K - 19 - - - 31 402/3
Z49 04+987,20 - - P 5 11 K - 19 - - - 3,1 402/2
Z50 | 05+000,40 - - L 6 18 A 53 - - - - 6 429/2
Z51 05+018,28 - - P 5 11 K - 19 - - - 3,1 402/1
Z52 | 05+032,90 - - P 11 K - 19 - - - 31 402/13




